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Example: T he elevation of a firework was measured from
the time of launch until it exploded. [ts
trajectorg can be described bg the function 4,3)«]:')

2

h(t)=-5(t-43) +93

a) What was the maximumheight reached bg this
firework? 75 m :-'é

b)When was the maximum hcight achieved? 43 S

h
o) At what height was the firework launched?
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{umg

d) | !ow many seconc!g after launch did the the firework

exploc}e nC its Mif'
h(t)=-5(t-4.3)" +93

ety = 90.55
?07.25=—5(z—4,3)2f 3? & @5 -5(t-43) +93
~24s- s(t 43) O= -s(t-49) +245
Ok{‘}' (E d. 3) _é 43 + —7"/5
\IOTW( £-4.3 L:43% \/o_z
S0 =t . 430
0. 0} #4.3:t ® 0-?“"{'3-"(: :
3os =, 55 €

36s i leo« nex) MUm
o OSs ..-.b “’(./\ MeK | Mm
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E_Xamplez A baseballis struck at a heig}‘lt of 1.1m

above the ground. Three seconds later, it
ver

reaches itw}mof 45.2m T he
g:(“"::;&h .bgi‘%b_t_mc the ball's trajectorg is a ss_c_a_n.cl
d@gree function Q&%ﬁ_

Determine the rde equation) that
stondw el forrt

rcPrescnts this situation.

V(zus2)  P(O 1) fia-# 5:1)} k
.Po'mt,
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\/\/e know: 1. \/ertcx

(_an find: Equation

1.1=a(-3) +452
1.1=9a+45.2

-4R.2 -
Dia1=9q 152
29 29

—49=a

o f (%) =—4.9(X-3) +45.2
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J-‘? X=2
a) \What is the ball's heigbt after 2 seconds?

f(X)=-490x-3)" +45.2
let X=2

f(2)=-4.9(2-3) +452
f(2)=-4.9(-1)" +452
f(2)=-4.9+452
f(2)=403

T he ball's height is40.3m
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xX="7 “"‘ﬂa‘tv’
b> Aﬁ&.ﬁmwoulé a plager catch the ball 2_2£1

above the grouncl K
f ) =-4.9@-3) +452

let y=2.2
22=-4.9(%-3) +45.2
-45.2 2—‘/5-2
—43=—4.9(f-3
—-49 ""’-ﬁ(‘x )

8.78 ~ (f~3)
+2.96~x¥—3 —— 1)296=(-3  2)-2.96=X-3

e o)
1),¢$ “;c. [

The Plagcr catches the ball after 5.96 seconcls.
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c} If no one catches the ball, when will it hitthe

W‘&Sé,&md ? ‘H\l vosS
£X)=—49(-3) +452 --
lety =0

0=-4.9(x-3) +452 \/7/57? 3t |22

452 s
~452=49((-3) 3¢ 307
_49 g

2
9.22 ~ (¥-3) 1)3.04=¢-3  2)-3.04=x-3
£3.04~4-3 ——  6.04=%K 0.04 =" {(\9

reject

&_

The ball hits the grouné after approximatelg 6.04 s
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d) What is the domain and range of this situation?
x (tu\w>

: omain: O, 6o
30‘“62‘{'\]) ’ { 2 ﬁ >
Raﬂgez to > L\S?\]m
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